1200

1200

1200

LA 00RO LT (DVBE I AT ) 2RI s=1/30

IM300- CEMZ200 1500x 1200)

5)

:0.3%B% (hEv) BE: 1.30/cm’
258 CA%REUTHE

1 =1 2 -2
330 330 330 330 330 330
200 1300 200 1300 200 1300 200 1300 200 1300 200
o Liﬁi’il;i;ﬁ’iiiiiiii’irii;i’iii’iiii’iﬁij
31 nl [ D N 1
e\ ‘ 1T L 1L L L
INBEEEDZ VA BRI U-DL—A MIL=A
FM200 TM300
ERE s=1/30
330 330 330 330 330 330
200 1300 200 1300 200 1300 200 1300 200 1300 200 R =T -
‘ ‘ FM200
g o Nl MO -4
- | [ ) |
‘ ‘ ‘ ‘ | Ho W TM300
K Int +|/ } ' o
| [S I
| PO |
‘ (@]
1 S
! =
OO
O (M
N [MD
(@]
(@]
(@]
o O
O (M
N [MD
(@]
(@]
(@]
o o
O (M
————————————— N
! 1500 ! 1500 ! 1500 ! 1500 ! W\WSOO ! TMP Y h=1 947
IMZPYA-MIALT IMBEEEDT O N
X E L5 JLBLA I
S AN T’
(%) % (kg) 2 v (kg) waitd kg A=K 2592 (GC1H U kg)
60 240 400 1,542 3.9
X1) KEAVNE o 60%bITREELT 2,
2) EAVLOBE EEMIVESUKEAVE 3150/ ek L THE.
3) WEBHOEE :2.69/cmielTHE,
4) #i-K25v7 (GCT) OEAE

A—ARrE s=1/6 EEMRIR s=1/30
330 ‘ 3=3
> D10 N
I
) o
; . o o QOO
(e}
o
RANIANT, N
200
TME S E7 VA
M2 L — AE#ER s=1/3
TMBOO JUVTRE 62.6
(BHTIVIBLH- S5
p ] y
| N
Pl L1
I I |
*<§$ H TMZ V= s=1/3
H 7-794 64.0 R Mz« 7
f (BATNIA20- $58) || |
ii 33 220
I Loy D10 |
h e -
ko o0 2
50 270 350
530
| 547
55
§
TMBEE E» 7V — s=1/6 J
550, 450 D10 =
244 244 =
D6 D6 .
HEX (1,000m249)
h@v © [ il 1 % B ne i %
Lo
~ M2 L =4 TM300 m 1,622 KOAE19.5%80
TM7Z > h— M5+~ 18 557
TM7Z > h— Lg+47 18 72
— TMREIEHT U H— 350. 450 1@ 4,247 RIS & VEBE
ES:3) D10 kg 2,174 XEE25% 80




